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4 )
Answer ALL questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.
1 Write 0.3 as a fraction.

(Total for Question 1 is 1 mark)

2 Work out 32

(Total for Question 2 is 1 mark)

3 Work out 20 + (3 +2)

(Total for Question 3 is 1 mark)

4 Write down a factor of 60 that is between 8 and 14

(Total for Question 4 is 1 mark)
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(Total for Question 5 is 1 mark)

6 Fay is planning a trip to a theme park for 1 adult and 2 children.
These are the costs for the trip.

Total cost of petrol £23
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Meals £15 each adult
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Fay has £200 to spend.
She pays all the costs.

How much money does she have left?
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7 Here is a list of 8 letters.

(@) Write down the mode.

B C A A A A B A

One of the 8 letters is going to be picked at random.

(b) (i) On the probability scale, mark with a cross (x) the probability that this letter will be B.

|
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(1)

(i) Find the probability that this letter will be C.

(Total for Question 7 is 3 marks)

8 (@) Solve m—3=4

(b) Solve 3n+n=24

(Total for Question 8 is 3 marks)
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(@) Find the value of y.

(b) Give a reason for your answer.

(Total for Question 9 is 2 marks)
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10 A shop sells jars of coffee.
Each jar of coffee costs £4

Michael has £23

(a) Work out the greatest number of jars of coffee Michael can buy.

In a sale on Wednesday, jars of coffee are sold at half price.
Michael thinks that he can now buy exactly twice the number of jars of coffee for £23

(b) Is Michael correct?
You must give a reason for your answer.

(Total for Question 10 is 3 marks)
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11 Here are two triangles on a grid.
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Triangle B is an enlargement of triangle A.
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(@) (i) Write down the scale factor of the enlargement.
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(if) On the grid, mark with a cross (x) the centre of enlargement.

Here are two parallelograms on a coordinate grid.
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Parallelogram D is a reflection of parallelogram C.

(b) (i) On the grid, draw the mirror line.

1)

(if) Write down an equation of this mirror line.
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(Total for Question 11 is 4 marks)
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12 Elena spent 120 minutes at a sports centre.
She played badminton for 50 minutes.

She used the swimming pool for % of the 120 minutes.

She used the gym for 20% of the 120 minutes.
She then spent the rest of the 120 minutes in the cafe.

(a) Work out the total time, in minutes, that Elena spent in the cafe.

....................................................... minutes
(4)
Elena got to the sports centre at 1.30 pm.
She had asked her friend to meet her in the cafe at 3pm.
(b) Did Elena get to the cafe by 3pm?
Give a reason for your answer.
(1)
(Total for Question 12 is 5 marks)
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13 The composite bar chart shows information about the number of people living in a village.

<
S otoetese!
RRLRRLES

A

> 4 3
SO ot
X SRR KKK
RRRLKRLRK

300

children
200
Number of women
people
100 . men

LRI
IR
RRLRRRRK

R

5
K
o te%%s

S5
XRRK

2000 2010 2020

pIes
5

S
S
X ¥
5
oote%

25
K
A

!

IRKK

Year

X
SR
9
o
o

54

0%
S

b

(@) Write down the number of men living in the village in the year 2000

(b) Find the number of children living in the village in the year 2010
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(c) find the ratio of the number of children to the total number of men and women.
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14 Jenny drives from London to Swindon at an average speed of 54 miles per hour.

She drives for 1% hours.

(a) Work out the distance from London to Swindon.

....................................................... miles
)
Aleksy is using a map.
The map has a scale of 1:25000
On the map a road has a length of 6¢cm.
(b) Work out the length, in kilometres, of the real road.
....................................................... kilometres
©)
(Total for Question 14 is 5 marks)
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16 Here is a quadrilateral ABCD.
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The perimeter of ABCD is 52 centimetres.
Work out the length of DC.
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17 There are only blue counters, green counters, red counters and yellow counters in a bag.
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Colour blue green red yellow
Number of counters 30

There is a total of 100 counters in the bag.
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Ashin takes at random a counter from the bag.

(@) Find the probability that the counter is not blue.
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The ratio of the number of blue counters to the number of green counters is 2:3

(b) Work out the number of green counters in the bag.
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(c) Can Bradley be correct?
Give a reason for your answer.
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(Total for Question 17 is 5 marks)
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18 There are 240 cans of drink on a shelf.
Each can contains cola or lemonade or orange.

the number of cans _ the number of cans _ the number of cans
of cola ' of lemonade ' of orange

= 5:3:2
1 1
) of the cans of lemonade and ) of the cans of orange are removed from the shelf.

Work out the number of cans of cola as a percentage of the total number of cans of
drink remaining on the shelf.

(Total for Question 18 is 5 marks)
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19 Write 500 as a product of powers of its prime factors.

(Total for Question 19 is 3 marks)
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3 1
20 (a) Work out 1; + ZZ

Give your answer as a mixed number.

b) Sh tht2%'6—i
(b) Show tha 376075

2)

(Total for Question 20 is 4 marks)
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21 Simplify (275 x 28)2

Give your answer as a power of 2

(Total for Question 21 is 2 marks)

22 Work out 0.004 x 0.32

(Total for Question 22 is 2 marks)
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23 A car factory is going to make four different car models A, B, C and D. K
80 people are asked which of the four models they would be most likely to buy. e

%
The table shows information about the results. K@

Car model Number of people e
A 23
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The factory is going to make 40000 cars next year.

Work out how many model B cars the factory should make next year.
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(Total for Question 23 is 2 marks)
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24 Rizwan writes down three numbers a, b and ¢

<L
<

s
o0

v
XA
PSS

- 1

50

b
c

a 23
b: :5

1
6
(@) (i) Find a:b:c

%

R
.ﬁﬁ&& L
GRS

6o8%
5

25

(i1) Express a as a fraction of the total of the three numbers a, b and ¢
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Emma writes down three numbers m, n and p
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(Total for Question 24 is 6 marks)
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25

A storage tank exerts a force of 10000 newtons on the ground.

pressure =

force

arca

The base of the tank in contact with the ground is a 4m by 2m rectangle.

Work out the pressure on the ground due to the tank.

(Total for Question 25 is 2 marks)
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26 (a) Solve > +3>18
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(b) Factorise x?+ 10x +9
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(Total for Question 26 is 5 marks)

PR
oL
XL

TOTAL FOR PAPER IS 80 MARKS

DO

R
?&&% SR0EL
<3

o
3 e
X N
S AINIAN

e N e e

5
020!
RIS

hoeS

R
<5
RIS,

CRRLAKL
&

0:00000000

RIISERLILE
SIS

O

%

28
9%
L&

RIICIIRIIAN

0992

CSRRKAL
K

\. J
21

VAL VAU O 0 A O 0 A —
[ [ Turn over »
P 6 8 7 2 0 A 0 2 1 2 4

%
0%
o%
X2
%
<




BLANK PAGE

J

22

P 6 8 7 2 0 A 0 2 2 2 4

EECE

PMT!

LSRR
KRS,
LRI,
SRR
G,

<

::‘Q‘}
Sorate

AL

Jo%es
<5
&
oo
%%
K

<3
%
&

o%
SRR
aV

e
o

%

0’0’0’0’0’0’0’0’0’0’0’0’0’0’0’0’0%’0’0’:.

5
o
%

KKK IRIHRK AR

!
oot ot tetetetotetetetedotetotet

0
boet
Q’
0
bose

%%

¢
5
20%%%
Qf
S5
'8

R
p>atel
..:»v«%’
KL
RISES

R
S
X %

X

095 %S
< X A
SSHELLS,
G052
25

SRR
(90950509
o



PMT

<

R
RSB
000

N
Sosesesed
QKKK
KK

%%
<

LR

%
SERRRKR

X

%o
SeSetedss
SRR
S
2006
SR

3
RRSERE
%éﬁv&
58
¢
X5

ot
o
RS
ot
2K

<K
<X
5

5
KK
9%
o0
'
S
o

QAN

REELRES
3
1A

<
X

99 %
o
=y
250

O
batoesetets
ISR
&"&»
sl
RLRK

OO
opesetesete’s
T
S50
0ol

S
i’
"\
o%¢

4

R
So%ete!
<11
4
A
055
5

00
S
teteteteltete
KLk
SERLRESS
R

S
XXX

<
S
bose%s

X8
29
%%}

0
%
KR
55

55

SR
SRSES,
0000
KRS
QLK
SRR

<
S
"ﬁ%
0&4&?‘
%

Q0K
295%%
S

<
SRGERS

Ro5cs

A
RLRKKS

K
%
KKK

S
R
RXX5

0K

e
b

bt ?3
S
S
Boss o

BLANK PAGE

IR LRRKLR,
SSELRRKESS

%
CRIIIEARIKIHRK

<
3&‘*»’?*
o0 J
2

5%

CERREHAR

KL ’o

%
X

S8
IR
X

2%
XS
o

AR
SR ARKLK

0>
RS
0%l
%!
SR
s
RRRIELRLLRRIERS

(X
5K
XY
0SS
%
<
K

000
53R
BB
SRS
5K
KRR
85

%
<

06
KKK
XX

5

5555
55

25
K
poseds

5
L R
S
%

05
RRELRLS
<5

<X

A
QUL LKLIES
S

XX
VT

300!
o
N

éﬁ%ﬁ’ %ﬂ%0§3

SRR HHKLS

s

o2}
o todeteds

KL
KKK

LKL
RS,
ZRLRRLRKLLS

bove!

LRKLHEK

ORIICIRIHK

5

5>
oo
80908
5
p0lelel
2%’

. J

23
[ [ Turn over »
P 6 8 7 2 0 A 0 2 3 2 4

%
0%

o%

X2




BLANK PAGE

J

24

P 6 8 7 2 0 A 0 2 4 2 4

EECE

PMT!

LSRR
KRS,
LRI,
SRR
G,

<

::‘Q‘}
Sorate

AL

Jo%es
<5
&
oo
%%
K

<3
%
&

o%
SRR
aV

e
o

%

0’0’0’0’0’0’0’0’0’0’0’0’0’0’0’0’0%’0’0’:.

5
o
%

KKK IRIHRK AR

!
oot ot tetetetotetetetedotetotet

0
boet
Q’
0
bose

%%

¢
5
20%%%
Qf
S5
'8

R
p>atel
..:»v«%’
KL
RISES

R
S
X %

X

095 %S
< X A
SSHELLS,
G052
25

SRR
(90950509
o





